03 02 10

G )

3,146 |

3,146

R2

R6

1 x 100

0000610497




R02 |R03 [R04 [ROS5 [RO6

A01-001 |s L 0.7 |- |- |- |- |- | 1,550| |
A01-002 |s L 0.2 |- |- |- | | | 250| |
A01-003 |s L=0.8 | . | . | | | | 560| |
A01-004 |s L 0.47 |- |- |- |- |- | 300| |
A01-005 L=0.4 . 85
A01-006 409 L=0.6 . 15
A01-007 L 0.1 [ n n [ n 186

0000610497




R02 |R03 [R04 [ROS5 [RO6

A01-008

L 0.2km

200

3,146|

3,146|

0000610497




R02 RO3 RO4 RO5
@) 245 338 268 165

) 0 0 0 0

(c=a+h) 245 338 268 165
(D 0 45 116 217

e) 200 267 167 217

) 45 116 217 165

@ 36 5 30 20

(h = ct+d-e-f) 0 0 0 0
(i = (g+h)/(c+d)) 14.69 1.3 7.81 5.23
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